SAQ 12 (6 minutes) 
A 65 year old male has presented to the Emergency Department complaining of chest pain.

As the triage nurse is performing an ECG, the patient loses consciousness. 
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’14 Lead ECG Report (Standard)
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His 12 lead ECG is shown below:
Q1: Give 3 important findings on this ECG and the state the reason for its importance (6 marks)
	ECG feature 


	Importance

	
	

	
	

	
	


Q2: For each of the following methodologies for estimating the QT interval state its utility in this patient. (3 marks) 
	Methodology 


	Utility 

	Automated ECG QTc 


	

	Bazett’s formula
	

	The QT Nomogram 

	


Q3:
Despite multiple defibrillations the patient continues to have recurrences of the 
above arrhythmia.  


During the resuscitation a friend brings in the patients medication - which is 
Sotalol   


List 2 further interventions you would consider (2 marks) 

List 1 drug agent that may need to be avoided (1 mark)  
ANSWER
Q1 (6 marks)
	ECG feature 


	Importance

	Polymorphic VT
	An arrested rhythm requiring immediate intervention



	R on T 
	Initiation of the VT  


	Baseline QT roughly within normal limits


	This is probably not torsades des pointes  


Q2 (3 marks)
For each of the following methodologies for estimating the QT interval state its utility in this patient. (3 marks) 

	Methodology 


	Utility 

	Automated ECG QTc 


	Unreliable

	Bazett’s formula
	Unreliable in general, especially with fast or slow rates - however as the rate is not to fast or too slow may give a reasonable estimate in this case   


	The QT Nomogram 

	Cannot be applied in this case as it requires the measurement of 3 limb leads and 3 chest leads (it does apply in Tox)



Q3 (3 marks)
List 2 further interventions you would consider (2 marks) 

●
Overdrive pacing

●
MgSO4

Its difficult to be definitive about the QT interval in this case ! - but given that the patient is taking sotalol - this would have to at least raise suspicion that the QT is in fact prolonged.  

List 1 drug agent that may need to be avoided (1 mark)  

●
Amiodarone 

